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Instructions: (a) All questions are compulsory.
(b) Figure to the right indicate marks
(¢) Support answers with examples/ diagrams wherever necessary

Q.1 (A): Multiple Choice Questions: (4ny 8) . [8M]
1. In star topology, failure of will bring down the entire network
a. Server %
b. cable
¢. node

d. all of these
2. 3rd layer of OSI model is

a. Session

b. Transport

¢. network

d. data link S —— e
3. AS1 or $Al is an example of reference

a. Absolute

b. Relative

c. Mixed

d. Contagious
4. To display a presentation in slide show view from the current shde you can press

a. F5

b. Shift+F5
¢c. Alt+F5
d. Ctrl+F5

5. Which of the following is not a secondary activity in a product process?
a. Human resource
b. Procurement
¢. Administration
d. Sales and marketing
6. Which of the following refers to dangerous programs that can be caught by opening
e-mail attachments and downloading software from internet?
a. Hardware
b. Utility
¢. Virus
d. Spam



7. Batch processing and Multiprogramming was introduced in generation.
| a. First

b. Second
c. Third
d. Fourth

8. Which of the following is used to write web pages?
a. HTML
b. HTTP
¢ FIP
d. HI'I?P

9. Answer of =ROUND(63.5,-1) is
a. 70
b. 60
c. 63
d. 64

10. Most web search engines earn their revenue through revenue model
a. Advertising——— ' P e
b. Sales
c. Subscription
d. Affiliate

Q.1 (B) State the following as True or False (dny 7): ' [7M]

1. Google Analytics dashBéafd gives you useful data about your email marketing-eifforts
2. DDOS attacks are easy to stop by simple IP blocking
3. The meta search engine is a software which can search through many Internet search

engines simultaneously
. When cash is withdrawn from the bank, a receipt voucher is prepared
. Answer of a formula is always right justified
. In bus topology failure of a main cable will bring down the entire network

. GPS device can help us find our destination correctly.
. To draft a mail in e-mail is called as creation.

4
5
6
7. Unix provides only command user interface
8
o
0

10. CTRLAF is used to search word in Ms-word.
Q.2 (A) What are the risks and security issues with electronic payment? [TM]
(B) Explain any 3 Internet work processors ‘ [8M]
OR
Q.2 (C) What are the different types of e-commerce [7M]

(D) Discuss in brief any 4 tools available in excel [8M]



Q.3 (A) Explain the various steps in working of a search engine
(B) Explain Customer Relationship Management (CRM).
| OR
Q.3 (C) What is EDI and benefits of EDI

(D) List and explain Input Devices of Computer

Q.4 (A) Explain the different views in PowerPoint‘ [TM]
(B) Explain the mail merge procedure in detail . [8M]
OR
Q.4 (C) What are th&types‘éf cloud services : [TM]
(D), What are the types of computers based on working Pﬁrﬁi;nciples [8M]

Q.5 (A) Explain the different online tools that can help to run e-commerce website [7M]

(B) Explain any 4 financial functions in MS Excel [8M]

. OR
Q.5 Write short notes on ANY 3: o [15M]

Repeaters

Firewall

Artificial intelligence
Digital cash

Green Computing
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